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[Returns the number of keys in this hashtable.
N

oolean containsKey)(©@bject ke
Tests if the specified object is a key in this hashtable.

¢

boolea containsValue(Qbject valye)
Returns true if this hashtable maps one or more keys to this value.

') get(Object key)
Returns the value to which the specified key is mapped, or null if this
map contains no mapping for the key.

v _—=7 put(K key, V value)
Maps the specified key to the specified value in this hashtable.

'} 7 remove(Object key)
Removes the key (and its corresponding value) from this hashtable.
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Hashtable{;frln rrﬁ grades = new Hashtable<String, String>();
System.out.pri l ( Si of e: " T grades size()); o

System.out. prlntln("Key Alan ex1sts
System.out. p lue B+ exists:
grades. put('Alan" QUV%

grades.put ("Mark' "B+");

grades.put ("Tom", “C“)
System.out.println("Size of table: "
System.out.println("Key Alan exists:
System.out.println("Key Mark exists:
System.out.println("Key Tom exists:

System.out.println("Key Simon exists:

System.out.println("Value A exists:
System.out.println("Value B+ exists:
System.out.println("Value C exists:
System.out.println("Value A+ exists:
System.out.println("Value of

System.out.println("Value of

System.out. println("Value of
System -~ %ﬁ of
grade put

System.ou
grades. remove("Alan")~
System.out. prlntln("Key Alan exists:

System.out.println("Value of non-existing key Alan:

existing key
existing key
existing key
non-existing

prlntln("Value of existing key

" + grades. contalnsKgxiﬁAlan")ﬁ;

"o+ grades contaanVa % "B+"

+ grades.size());
" + grades.contain
" + grades.containsk
" + grades.containsKey ("Tom

" + grades.containsValue (
" + grades.containsValue
" + grades.containsValue (
" + grades.containsValue (
Alan: "

Mark: "

Tom: " +
key Simon:

Mark: "

" + grades.con
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